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No. of Questions : 150
geAl & @& ;150

Time : 2 Hayrs ; Full Marks : 450
oug : 2 gu2 ; quTiEF : 450

Note : (1) Attempt as many questions as you can. Each question carries 3

01.

02.

(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

s g9t H & HE B T HL | A 999 3 (H9)
iRt W B HEH TAT IJOT B @ 0F S7H HIEr AEWMI
g% STARA UeA H A<ih YT B |

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest bne.

af? wEfys Jsfeas Iax g8 IO B e udia &, a Feeas
&l I |

Which of the following is NOT a part of the Neuron ?

(1) Soma (2) Dendrites

(3) Ganglion (4) Axon

Prefoiaa & @ @-a1 &g Ffwr & 9rr T2 8 ?
(1) &= (2) SR

(3) Iffera= . (4) TEFTH

Which part of the body is NOT directly activated by the autonomic
nervous system ?

(1) Leg Muscles (2) Stomach Muscles
(3) Heart Muscles (4) Endocrine Glands

3 P.T.O.
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03.

0S.

Wmaﬁw-mmmﬂﬁgmmm-maﬁshaﬂﬂ

fopar T & ?

(1) ¥ H miARE (2) YT @ =GP
(3) T H wEAR™ (4) Sra-ETE gt
What is the nature of nerve impulse transmission ?

(1) Electrical (2) Elector-chemical
(3) Chemical (4) Electro-magnetic
g yars #H apiy w7 & ?

(1) FRgha (2) faga tart®
(3)  TaEatTE : (4) REgm-g==E
'Epinephrine’ is secreted by which gland ?

(1) Thymus (2) Thyroid

(3) Pituitary (4) Adrenal
‘i e afa ZrT @i @ ot & ?

(1) 9r@"yq (2) 9IREs

3) fegfead (4) ofsgEs

Which type of memory is most ‘organized and stable’' ?
(1) Epis8dic Memory (2) Iconic memory
(3) Working Memory (4) Semantic Memory
fre gk @t SIfY G998 it ‘aaRaa od @y &t ® ?
(1) geas Byf - (2) faers afa
(3) Hrdwrd sy (4) =T gy
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Which of the following is NOT a characteristics of sensory memory ?

_{1) Improvement by practice (2) Fleetingness

(3) Unprocessed information (4) High storage capacity

fFrefofa & @ S-ar €39 Sfy & oot w1t ? 2
(1) ST=TH T gur ‘ (2) @PmERar
(3) SrEEifaE g (4) T=T WSO &l

The phenomenon in which "learning of new material leads to reduction

in retention of earlier learnt material” refers to what ?
(1) Proactive Inhibition (2) Zeigarnik effect
(3) Retroactive Inhibition (4) Backward conditioning

39 g § 1 arqd @ RBrad ad wrnlt @ o @ et @
Ot 18 areht @ gRor ¥ B &ar 8 ?

(1) e At 2) Shnfis gwra
3) IS=yE aAfvEwToT (4) gy FAFEUA

What does the term "serial position effect” refers to in context to

memorizing a list of wards using free recall method ?
(1) Better recall of middle items of thc list.

(2) Better recall of items at beginning and end of list.
(3) better recall of items at the beginning of the list.

(4) Better recall of items at the end of the list.

5 P.T.O.
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gad gare Ry @& IwEar #a g3 Bt a= g=l @ g &3
3 gl d “ofve W g9E”’ g & oFr argd g ?

(1) N & "9 B &I & F<TAX TADH |

(2) TN B g g I B U FH ASA TABH |
(3) TN & IIH B UaT H AT A |

(4) G B I B T& W ADAT TATDBH IRR

09. What does the term "Mnemonics" refer to ?-
(1) Spccific learning techniques.
(2) Specific motivation enhancing techniques.
(3) Specific emotional control cnhancing techniques. -

(4) Specific memory improving techniques.

‘Frfer’ 95 &1 @ arad B ?

(1) Rfere stfrm g |

(2) fafdre s sifufges awis |
(3) fafdre g@anfaEer sifwfges awa |
(4) fafdre fy sifges aws |

10. The proponent of the ‘classical conditioning theory' of learning

WaS...ieiuininininannnnn. and the main experiment was done on............. ?
(I) Pavlov, Dog (2) Kohler, Chimpanzee

(3) Pavlov, Cat - (4) Skinner, Cat

ST B Fenfehl SrgEY R & JREE. T
q™UT IgE 9GRT ... 93 fepar mar ar )

(1) dfaera , g (2) e, Rrgrh

(3) dfacra , fasht (4) Rz, facsh
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What is that schedule of reinforcement called in which 'No
reinforcement is given, no matter how many times the response is
made, until a certain interval of time has elapsed'.

(1) Fixed-ratio schedule (2) . Variable-interval schedule

(3) Fixed-interval schedule (4) Variable-ratio schedule

39 gAse FAIGE H T HET AT & DA STg a6 6T B Th
ﬁfﬁaamwa?ﬂaﬁaaﬁaaaaﬁgﬁmqﬁﬁmm =18
et e f srgfear &t T & S

(1) FaifRa sgam srggEh (2) aRddARE-s e STy
(3) FrafiRa-sre stgEh (4) gREd=efier-srgarE srgeh

Which type of learning is defined by 'understanding of the relationship
between components of the problem' and is marked by ‘'sudden

appearance of the solution’ ?
(1) Trial & error learhing (2) Insightful learning

(3) Operant conditioning (4) Concept learning

fra g & I & ‘GHET B gTdhl B Aad H GHH' E
fiRa aenr  ‘qguNE B THET Sheqd’ g faftea frar s 87

(1) srama o Ffe sferm (2) SrdsTTS AT

fraraga siferm (4) Ty AT
Which of the following is NOT a characteristic of attention ?
(1) Readiness (2) Selective reaction
(3) Exploration ' (4) Unlimited Span

7 P.Tlo.
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14.

15.

16.

fr=foafga & @ H19-91 39U &1 weyor Jdt & ?

(1) TQL@r (2) =FATHS IR

(3) S=AwYT - (4) T REr

Which of the following is NOT a subjective determinant of attention ?
(1) Interest ‘ (2) Past Experience

(3) Stereotypes (4) Novelty

Prefafaa & § PF-@T @UH BT ARRTID FH TE T ?
(1) s (2) & HgHI

(3) wfegfmai (4) QA

What does 'Random and intermittent change in intensity of sensation
despite the constancy of strength of stimulus' refer to ?

(1) Fluctuation of attention (2) Division of attention
(3) Sustainability of attention  (4) Distraction of attention

‘TEH  FHl A R @A B qras qdeqr B dgar § grelRes
od orafda qfikads’ & o= arqd B ?

(1) oaH faes (2) S1aus fus=

(3) Staur= FRa@r (4) STy ey

The theory proposed originally by Broadbent regarding selective
attention is known as :

(1) Load theory
(2) Attenuation theory
(3) Filter Theory

(4) Attentional resonance theory
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18.

19.
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TS U $ AR goeT | ftedw Zr sERE R, #@
ST SR B

(1) s R (2) wRgATH faar
3) freer R - (4) STy daAg R

What is the effect of increment in stimulus intensity on attention ?
(1) Reduction in fixation (2) Enhancement in fixation

(3) Increment in oscillation (4) Distraction of Attention

aﬁwa&eﬁmﬁgmmmﬁwwmm%?
(1) Rerdewtor & it 2) Rerfiwrer 7 gRx
(3) A= H & 4) @ R

Which of the following is NOT a law of perceptional organization rd

(1) Proximity (2) Similarity

(3) Clarity '(4) Continuity
ﬁwﬁ%ﬁﬁﬂw—mnﬁ%ﬁmw%ﬁ%?
(1) .&Haar (2) GHEAT

(3) ¥qsdl (4) FREar

What is the reason for the line with featherheads at the ends appearing
longer than line with arrowheads at the ends in the Muller-Lyer

Illusion ?
(1) Form Constancy (2 Colour Constancy
(3) Brightness Constancy (4) - Size Constancy

9 P.T.O.
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T ISR 9H # B8R OX qa@mt el @r @ 8k 93 omi arh

20.

21.

@ oifve s Ra &1 @ s 2
(1) &9 Rgzar (2) 1 Rear
(3) Tus Ryar (4) STHR Reyar

Which of the factor does NOT contribute to perception of apparent
movement ? 4

(1) Shape of stimuli

(2) Intensity of stimuli

(3) Distance between stimuli

(4) Time interval between stimuli

STl Y B geEor § -1 BRE AR T8¢ a7 2
(1) IE9H FH HR '
(2) 39w N fgar

(3) s & g A gh

(4) IEuw B g F gEY oS

Which is the correct order of the following processes involved in
perception : (A) Interpretation by brain, (B) Generation of Neural
Impulse, (C) Sensory stimulation, & (D) Transmission to Brain ?

(1) A,BC,D (2) C,B,D,A
3) C,D,B,A 4) D,A,B,C
mﬁﬂ%ﬁaﬁ%nﬂwuﬁwﬁw-m%?(w

qﬁﬂmsmawémm(a)wgmaﬁmﬁr, (/) 93dg I,
g (%) ufass @& oy

(1) &, 9, 9,7 2 9, 9, 7 &
G 8 8 7, % @4 T 91, 9, 9

10
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22. The ---------------- hypéthalamus is responsible for onset whereas the
................. hypothalamus is involved in cessation of eating behaviour.

Fill in the two blanks with appropriate pair:

(1) Lateral, Medial (2) Anterior, Posterior

(3) Lateral, Ventromedial (4) Anterior, Medial

FEOT FAETT HI ST B A STZUATHH BT .ovvevvennnnes LIRSS 167
7 R @ R eTadem d® & . AT IAEAT B

(1) qexw, WA (2) wARET , ARRAT

(3) dqexd, AHIEEA (4) TEfER, ffsaa

23. Which of the following is NOT a characteristic of High n-achievement

persons ? )

(1) Preference for moderately challenging tgsks
(2) Preference for highly challenging tasks
(3) Preference for career-related tasks

(4) Preference for tasks involving comparison

Prefafaa & @ BA-a1 Iea st SARHReN A ARt H TR
Tt ¥ ?

(1) wemw @< @ gAd gof St & 9w

(2) orafus g got @t @ TE

(3) S afy graefl HET H THS

(@) TN ¥ TS HAT B TE<

11 RT.O.
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24.

Choose the correct ascending order for the following needs according

to Maslow's hierachy of needs.

(A) Belongingness Needs, (B) Esteem Needs, (C) Need for Self-
Actualization, (D) Physiological Needs, (E) Safety Needs |

(I) A C,B,D,E (2) D,B,ACE
(3) B,C,AE,D (4) D,E,AB,C

m%maﬂaﬁmm%mﬁ%mﬁmﬂ
B TqE G F R

(a)mﬁﬁmm(a)wmsmﬁ(ﬂ)mmaﬁ
ST (%) e smavawart (4) gean smavasar

(1) 9, 9,9, %, ¢ 2 % 9 1,9 3

@ ;8| N @ = % &, 7, 9

25.

What is the basic assumption underlying use of Rorschach Ink Blot _
Test for assessment of personality ?

(1) Projection of respondent’s innermost unconscious feelings onto

the vague stimulus pictures. _

(2) Respondents speak truthfully on seeing the vague stimulus

pictures.

(3) Respondent's desire to reveal information is enhanced on seeing
the stimulus pictures

(4) Respondent's self-understanding is enhanced on secihg the
stimulus pictures

12
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27.
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afFra 3 otieew 3G UM TR e qEET ITET HA A
YR qYReT F|T & 7
(1) o SEuE REt 9T gfeerh it SRRas STaad AEsT &

(2) oreqs IS el & J@HT gl &1 ad A

(3) 38 Rt 31 2wt gRrErl A gEastt @t gwe HA B FT
# gfx &

(4) S8 RET @ 3@ &Y gRerh A @d e 7 gie e

Cattell's and Eysenck's theories of personality are based on research
using which statistical technique ?

(1) Multiple regression analysis (2) Analysis of variance

(3) Factor Analysis ' (4) Correlational analysis

39 ud onsts @ wfa ReT A Fieha aeis B ITarT
RFY g2 SrgEarr o Smala @ 7

(1) wgafermT e (2) ST Rwdwor

(3) HeHg favawer (4) TETEUEH AT

What is the correct sequence if arranged in an ascending order for
the following stages of psychosexual development proposed by Freud?

(A) Anal (B) Genital (C) Latei.y (D) Oral
(1) A,B,D,C ' (20 A,D,B,C
3) C,A,D,B 4) D,AC,B

(%3

ﬁmmmﬁﬂﬁmaﬁﬁﬂﬁmqﬁ%ﬁmmﬂaﬁuﬁ
anﬁ'a‘iw_ﬁamﬁa'aﬁmmaethWM?

(=) T (<) & (W) wgQ (3) T

(1) ﬂ! ‘l IE_?‘H (2) Q" q’ al H

@) A, KW 4 T X EE

13 P.T.o.
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28.

29.

30.

Which of the following is NOT a reason for the manifestation of research
problem according to McGuigan ?

(1) Need to publish research (2) Gap in knowledge

(3) Contradictory Results (4) Need to explain a.fact
FHgH & argaR Frefafaa & @ Ae-ar s wwen @ ggva w@
Hror JE & 7 '

(1) <9 GHIE I ETHAT

(2 I P | X

(3) g ooy

(4) T BN [T B AEIIHAT

Which type of research problems involves observing the effect of
changes in one variable on another variable under controlled
conditions ?

(1) Practical Problems (2) Historical Problems
(3) Social Problems (4) Experimental problems

ﬁmwaﬁsﬁuw&ﬂﬁwmﬂ@ﬁa@%wgﬂ?
mwwﬁaﬁmwﬁwwﬁﬁﬁaﬁﬁuﬁﬁﬂﬁmm%?

(1) =Eels ga 2) ofmfye gaard
(3) W Fmend (4) QTS gRErd

Which type of hypothesis would it be if a researcher hypothesizes
There would not be any significant difference between the adjustment
scores of male female employees of an organization.'

(1) Negatively Stated Hypothesis (2) Existential Hypothesis
(3) Null Hypothesis (4) Universal Hypothesis

14
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32.

14P/245/5

aft site Fal oRERaT B & B R deam 3 gew a Hfee
FHIRG! ® G araiet § Hig grefe A=< F8t @, a a8
frg g& 3 afeerasr anft ?

(1) s Ha- @t aitEwea  (2)° IRaErTs aReea
(3) A afEwear (4) T AfHsw afReear

Which of the following is- NOT a essential characteristic of a 'good
hypothesis' ? -
(1) Adequate answer to problem (2) Verifiability

(3) Positive statement (4) Conceptual clarity

Prafafaa & @ 9 a1 R ‘S REear 1 a9gs AT TEl
g7

(1) THE F T I (2) TG

(3) YATHD HAT (4) TUATH Tl

In which experimental design the same group is tested under both
experimental and controlled conditions ?

(1) Single group design (2) Matched group design
(3) Between group design (4) Randomized group design

Rre T o & U & aug o gt qar R A
qRfrafadt & gdeor Rear ser 2 7

(1) THa a8 Af¥EHe (2) gARa age oI

(3) IR TS AfEHT (4) ateedipa T ARFT

15 P.T.O.
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33.

35.

What ié the major advantage of using Factorial Design ?
(1) Studying effect of more than one variable

(2) Sﬁdﬁng the interaction effect of variables

(3) Conduction research on more than two groups

(4) Controlling the effect of all possible external variables

(1) @ @ s a3t B 999 &1 =T FE
(2) =S B =AfRAT UWIG & FHWIT HET
(3) A ¥ s wE W MY TR HET
(4) mmaﬂ%maﬁﬁﬁﬁam

What percentage of cases lie between +1 S.D. and -1 S.D. under a
normal probability curve, where S.D. standard for stands Deviation.

IR w9 fges &t 1.7, g i s Y 9w 9Yerear 9%
& M +1 AR aur 19107, B H9 Y gfive 389 Rug a1
€7

(1) 60% (2) 68.26% - (3) 34.13% (4) 75%

‘What would be the type of distribution when the larger number of

individuals in a group are high scores.
(1) Positively skewed (2) U. shaped

(3) Normal (4) Negatively skewed

16



36.

37.

38.

14P/245/5

afy fpd agE 7 sifteraw dear ® afd 3= ois ara 3 a &
ar faaer fFe g & ' ?

(1) g=TeTeh fesar aren (2) Z-HAHIRX T

(3) wEHTH (4) FOTHE fawHar ar

A Normal Probability curve on the basis of its 'peakedness’ is
categorized as :

(1) Mesokurtic _ (2) -chtokurtic

(3) Platykurtic (4) Skewed .

AT AR T B AR G el wETE Rt @ Fftwr a8 @
(1) FErnH 2) AHEH

(3) AHEH 4) fww

In a distribution, 50% cases lie below and above which score ?

(1) Mean (2) Mode

(3) Median (4) Percentile

REEY RaTor ¥ frg OTdi® @ 9 @ ST 50% Ao Raa & ¥ ?
(1) ¥EHHH (2) &b

(3) =fezer (4) sfeEs

If means (M) and the number of cases (N) for three groups are as
given as- Group A (M=30, N=50), Group B(M=35, N=70) and Group C
(M=40, N=80) then what would be the value of mean if all the three
groups are combined ?

qﬁeﬂqv@%wmw%@maﬁﬁwmmmﬁnﬁ
¥ -ugE 3 (M=30, N=50), T8 ¥ (M=35, N=70) TI HFE § (M=40,
N=80) & afX dAt GgE & e Rar T @ HHATH H AT F
g ? :
,(1) 36.00 (2) 35.75 (3) 105 (@) 0.51

-—

-

17 P.T.O.
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39. Which measure of variability is based on the distance between two

41.

particular scores rather than involving all the scores of the distribution.
(1) Standard Deviation (2) Average Deviation
(3) Variance (4) Quartile Deviation .~

Rrerersficran &1 P-4 719 79T A9z $ o graEt @ afaRa
Rra g2 Faw el & Rftre graist @ e & oh o emaRe @
g7 | _

(1) s R (2) Shaa Raws

(3) =EToT @4) =Fdw Raas

What is the formula for calculating Standard Deviation (o) for
ungrouped data if Raw Scores, Mean and number of cases are depicted
by X, M, and N respectively ?

A qW AT, TEET T FAA H G FAM: X, M a9 N ZT
g A o &t srerdiga stiwSt @ WME REE (o) & TOFT @5
ga T e ?

) JTE-MN @ x-MmN
@ JTxN @ TX-NN

The correlation coefficient (r) equal to +1.15 is obtained by calculation
using product-moment method, what does it convey ?

(1) Correlation is highly positive

(2) Correlation is not very high but positive
(3) Correlation computation is incorrect .
(4) Correlation is not significant

18
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TR-Age R{Afy & I HQ gA Ged=rg-TONS () H A
+1.15 UT<T BT 8, I8 FAT 3P w8 7

(1) TeEsry Taf¥E 9 8

(2) TEEIY FEA I=T AL B T U @

(3) wWew=rY & o FReget B

(4) weEwIT e g 8

Who devised the Rank-Difference method for calculation of correlation?

(1) Karl Pearson (2) Charles Spearman

(3) Francis Galton (4) Henry E. Garrett
EqFg i, T B dife-rr fafyy, fpaa eimeleaa & & ?
(1) @t R (2) =g Rqad=

(3) wif~ad oA 4) 0 €. Me

Which is the best method for finding out the correlation when out of
the two variables to be correlated one is continuous whereas the other
is dichotomous ?

(1) Point-Biserial (2) Tetrachoric

(3) Phi Coefficient. (4) Biserial

I R @ ot B fig gEEEyg S BT & IAH A T Jad ol
a1 i, & @) geaery T F A FEa I fafy ae-a
g7

(1) dige - sdREa (2) 2TTRIRE

(3)- B1E HRAMKRIGE (4) szERES

19 P.Z0.
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“.

45.

Maturation is related to naturally occurring changes that are governed

(1) Brain (2) Learning

(3) Experience ({)1_ Gene

IRYFa g ©9 | 8 I I qRad|t § T & AfE ..
............... T Frafa &

(1) -=ferss (2 fem

(3) T (4) T

Which of the following is NOT a characteristic feature of the stages of

human development ?

(1) Unaffected by Cultural changes

{2) Follows a Definite pattern

(3) Follows a Predictable pattern

(4) Aided by Stimulation

?ﬂﬁf@aﬂﬁmmmﬁaﬁm%mﬁwﬁmwﬁ
> . ‘

(1) wicplas aRad"t § swuwfag

(2) @ FfYEa sR@Er &1 AP HE g

(B) T FAIFAT TRAET FH FPTHA HA qrelt

(4) IT A TEEAT T GHA AT

Which stage of development is termed as the stage of 'storms &
stresses' ?

(1) Childhood (2) Infancy
(3) Adolescence (4) Emerging Adulthood

20
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frpre & D-T rEE ‘TEET o qREEN B oraeT FHearh ¥ ?

(1) sgmEE (2) FAvETET
(3) Reamaen 4) ST agwrEEn
47. Every human being receives ...........ccoecevuenns chromosomes from each

. parent of which the sex of the child depends on the one chromosome
received form the ................

(1) 46, Father _(?) 23, Father
(3) 46, Mother (4) 23, Mother
g% A Hiar Rar § 4 gQe § mﬁmmm%

Rt @ =3 @ R @ Frgizor ... { g T BHEEE 9X AR
BT ;

(1) 46, far | (2) 23, R

(3) 46, AT : (4) 23, A¥T

|48. In which stage of developmeﬁt there are least changes and thereby it
is termed as the 'plateau period '?

(1) Adolescence (2) Early Adulthood
(3) Mid-Adulthood (4) Late Adulthood

ReprE & By otge # T9d @9 aRadT 8 ¥ ol weesy @
‘GSTX HIA’ HBT AR & ?

(1) Preiaen (2) uTftweE aaEmEE

(3) - (4) SUT FREHETH

21 P.T.O.



14P/245/5

49.

50.

What is ‘the correct order of a baby's initial stdges of language
development which include the following (A) babbling, (B) cooing, (C)

- producing words, and (D) showing meaningful gestures.

(1) C,B,AD @) B,C.A;D
(3) C,AB,D (4) B,A,D,C

Riggait & s T e Rrad Frefifa e wffea & s
a8 B9 @ B 7 (1) Iaaar (9) Reafeer (6 =t @ SO

HE () gl s gesi= )

(1) § 9, 3, (2) &, 8 9, 3
(3) Hr GT, a; < ’ (4) al‘ ‘3:[! a"r H

S ]

Longitudinal approach is most appropriate for investigating human
dcveloprﬁent as it is possible to trace the clevclopm{:_ntal changes :

(1) continuously within same individual

B
(2) at different points of times within different indi'viduals
(3) at one point of time within same individuals -

(4) Dby using less time and effort

" e & orawer 8y ddwifed g q9® I9gE @ Hie
gad 39 Repraers afad=t @ fafted s 9wa 8 -

(1) % & aafE & Fax ' '

(2) R afidt § Rt o Regelt o3

(3) F & = § o @ fag @

(4) HH THI T 9AT9 H IGAT FID
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Which methodology would be considered the best for the study of
very small children ? :

(1) Interview

(2) Self-Ratings

(3) Systematic Observation

(4) Standardized Questionnaires

TEI B F= & T & RiY AR R 9w@ Sogaa arh srh
2 ? ‘

(1) WA (2) -2 g

3) FFafra Frlwmor (4) HFEHpA gyAEfar

What is the cause of 'Down syndrome' in new born babies ?

(1) Trisomy (2) XYY syndrome

(3) Mutation (4) XXX syndrome

oo fargedt & ‘s Regh’ @ wRer w® B ?

(1) srEEs _ (2) T Ig ag fagm

(3) IaRad= (4) T T o g

At which age span babies have been found to display ‘fear of
strangers'?

(1) 1-2years (2) 6-1§ months

(3) 1-6 months | (4) 2-3 years

Rew omgee 7 Ry ‘ororfaEt & wa' wr gaefe R 9 o ¥ 7
(1) 1-2a¢ . (2) 6-18 &R

3) 1-6%WE™ (4) 2-3 a9
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54.

56.

Which is the correct order of Koglberg's stahes of moral development
given below :

(A) Contractual Morality, (B) Good boy/ Good Girl orientation (C)
Instrumental morality & (D) Punishment orientation

(1) A,BCD (2) D,C,B,A

3) B,D,C,A ' (4) C,D,A,B

2 R 3 Figaert A Aawar fewra At sraearsdt & 98 F5 |
R ? (o7) wRme Afvwar (3) sreoT wew /T T st
(w) Afufas Ay & (%) o e

(1) A, 9, 9, T 2 % |/, 9, A

3 9, 7 9, A ‘ 4) 9, 7 A, 4

Which stage of development is termed as the 'Gang Age' ?

’

(1) Early childhood (2) Adolescence

(3)) Emerging adulthood (4) Late Childhood

R & Pa-@ rEen s oy’ & A § S SRt @ 7
(1) uRPwes sgrEaeEn (2) RreMRTEEET

(3) SHfa gagwmEEn (4) TR FrIEEAT

What is the age span for Piaget's concrete operational stage ?

(1) 7-11 years (2) Birth to 2 years -
(3) 2-7 years (4) Beyond 11 years
Rt 2 o wRaTeTS STaET W SIg-FE T ¥ 7
(1) 7-11ad (2) = ] 2 a¥

3) 2-7ad 4) 11a¢ @ ax
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Which child rearing style is characterized by 'high acceptance and
involvement, firm control with explanations, and gradual autonomy
granting' ?

(1) Authoritarian (2) Permissive

(3) Authoritative (4) Uninvolved

T B TAA-TIH FH HA- JN ‘TeT ©iHOT T P, TWLIHOT

F e B ?

(1) SamEy ' (2) AT

(3) it (4) STT=&E

Which of the following is NOT caused by malnutrition ?
(1) Marasmus (2) Hemophilia

(3) Kwashiorkor (4) Obesity
Prafafaa & & P9-a1 gAY & HROT A& Bar ?
(1) ATE™ | (2) MR

(3) FfIrEmET (4) wreTar

What is meant by 'identity foreclosure' ?

(1) Committing to values and goals after exploring

(2) Being in the process of exploration for appropriate value and
goals

(3) Neither being committed nor in process of exploring values or
goals

(4) Committing to values and goals without exploring

25 P.L.0.
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60.

61.

‘fersma g’ @& arad ® 7

(1) AYoT B aE gedt aur IRedt B oy @Eia a

(2) UG gt g SRedt & oFdwer ) ufEar B dr @

(3) & gt IeAt @ ufy 7 Tl & A & v afFAw B
g ,

(4) fam oRAwer & yedf od Ieeat & ufa Gafda s

What does ‘counselling’ refer to ?

(1) Help given by the counsellor to counsellee to help himself /
herself

(2) Help and advice given by counsellor to counsellee
(3) Consellor's giving solutions for counsellee's problems

(4) Counsellor's efforts to make counsellee happy

‘quset’ &1 T arad B ?

(1) wxmelerar g wEsft & germar 3 afd @8 w@d ot
FEIAT BT G .

(2) wmEstEmar g’ wEell B geEar o qare A s
(3) uxmsterar &1 qymsht & guegrelt & gEaE AT
(4) gquEelETar &1 gEstt & g9 FE H 9A9rE FET

What is it when ‘one puts oneself in the place of another person in
order to understand that person's way of looking at things' ?

(1) Understanding _ (2) Rapport
(3) Empathy (4) Sympathy
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T ‘RIR AR @ H R gER Afd @t orte WX 3R waar @
of a8 39 =afF & e B aow & @ g8 F B ?
(1) (2) HIIE

qH a1 X
(3) wagHfa (4) weTgHf

Which area of guidanc_e is related with solution of an individual's
psychological adjustment problems ?

(1) Developmental Guidance N2} Personal Guidance
(3) Health Guidahce (4) Educatipnal Guidance

FRse &1 PF-a1 85 A F gt guEe gaeneT
qIgE Q@ 99 & 7

(1) ReFrarss ARy (2) ¥ FHE=
(3) w@rem A= (4) NafrE PR

Which of the following is NOT a very suitable method for collecting
information for counselling ?

(1) Interview (2) Case-Study

(3) Cumulative records . (4) Experimentation

fFrefafaa & @ H-@ By wmd & R gk @ 53 a6

- IugE fafy T8t ® ?

(1) QTR (2) T - JIIA
(3) Tt If¥aa (4) "@m

‘'Which of the following techniques involves analysis of dreams as a
part of the counselling process ?

(1) Existential (2) Client Centered
(3) Behaviouristic (4) Psychoanalytic

27 P.T.®.
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66.

67.

et gfEar B sisr B =g # =fafea § @ AF-:F a S
¥ @uet F ey gfafea 2 2

(1) SRaEES (2) Ieh-3f=a

(3) HABIHE . (4) HARTATOTES

‘The process of identifying and attracting the right for a job', refers to:
(1) Recruitment (2) Selection interview

(3) Promotion (4) Processing application

‘Fplt D A Sugaa oredt @ fafead F aur I/ A ¢

3 gfEar & anqd B

(1) =it gfekar (2) T HETEHIR

(3) w=gfx (4) SRS HHHOT

Which of the following is NOT a part of selection process ?

(1) Reference checks (2) Medical examination

(3) Identification of vacancy (4) Qualification assessment .
Prfefaa & @ -a1 9= afear & wor T8 8 ?

(1) SIFHRA g (2) ffrcia gden

(3) R wm= faffea s (4) IJFTET STiHAA

In which type of job interview , a standardized set of questions are
asked from all candidates ?

(1) Unstructured interview (2) Structured interview
(3) Situational interview (4) Stress interview

AH0 arreeR B e g & @it orwafiat @ o aEEiga geEt
H Y=g B 997 8 o ¥ ?

(1) STEfra amTep R (2) wEa |rRiTeEp

(3) wRuUfISIT |reHIT (4) ufdasr QrTERR
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‘Transfer, that is initiated as a punishment for indisciplinary act of
an employee’, is known as :

(1) Replacement transfer (2) Remedial transfer

(3) Penal transfer " (4) Rotational transfer
Mwﬁar&%?ngma%m%mﬂﬁmw
(1) sfreas wmEFaCeT (2) FGURTHE TATATRIOT

(3) ITOSTHEH TITHIIOT (4) THE AT

External placement is considered to be desirable undcr which
conditions ?

(1) The talent pool within the organization is large

(2) Required skill development possible within organization
(3) Internal development is a key personnel issue

(4) The talent pool within organization is limited

fpr oftfeafaat & e P atesig | Sar 2?7
(1) "= # arg afaat & =g g&d & ‘
(2) d®HE ¥ awEs Hive fQea W &

(3) IraRe e HHaErd ™ /] TEe 9HG ge 8@
(4) T # drg afRt s agsEd aga w9

Which is NOT a traditional method of performance appraisal ?
(1) Assessment Centers (2) Graphic Rating Scale
(3) Critical incident method (4) Confidential report.

Tp—— e R R
(1) @@= A=< (2) e AT =
(3) Refww yPad~ ffy (4) mw
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71. What is the full form of BARS method of performance appraisal ?
(1) Behaviourally Administered Rating Scale
(2) Behaviourally Anchored Rating Scale
(3) Behaviourally Administered Ranking Scale

(4) Behaviourally Anchored Ranking Scale

i gwiET @ @, o ga Ry & gt am oar ¥ 7
(1) frefaach st W @

(2) fefaaht o=rd W et

(3) frRfaah wehifved T @«

4) faRfaaeh o=pg WrT &

72. In which appraisal method employee is assessed by his superiors,
peers, subordinates, internal and external consumers/customers ?

(1) Assessment center (2) Management by objectives

(3}' 360° Feedback (4) Human resource accounting

fra wrdfsoes geaies fAfy & swdAard &1 simpea aftss
HAfaHRAl, grenyg HHaRal st wHaial, sm=afe aur aga
SYHIFTAT /ATEHN &I AT Siar ® 2

(1) I@EA=< =1 (2) IEEl B FT gEYA.
(3) 360°HIBAH | (4) BgHa REd smpefa

73." Which Act in India contains specific provisions for safety of
organizational workers ?

(1) Industrial Dispute Act (2) Factories Act

(3) Employee's State Insurance Act  (4) Minimum Wage Act
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B) TR Ve =g fafmm (9 B 3w sifafaw

Which of the following accident causation model is given by Dr. Russel
Ferrel ?

(1) Motivation-Reward-Satisfaction Model
(2) Incident Causation Model

(3) System Model

(4) Human Factor Model

Frfafad & & SF-a1 gdet srv1 w4 dtsw o1, @ o3 Bz

g par T or ?

(1) FARRON-gIEFR-A Atz

(2) "1 RO HEd T=gTEHS qisd
(3) P s

(4) HHE geF Htsa

'Flash burns' a type of eye injury to workers is caused due to :

(1) - Ultra-Violet rays (2) X rays

(3) Infra- red rays (4) Gamnra rays

‘GAN T4’ TF GHR B @l B f¥arg HHEnRREr F S B B
2 :

(1) 9T fst (2) qd ot

(3) FERS ot (4) T fApoY
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76.

77.

78.

What is the minimum number of workers in an industry which makes
it mandatory for the organization to appoint a safety officer ?

et Sheifres derr & sRdl @ a gEew den ¥ e
B g e Z gRE A A Frga ST st S
27

(1) 500 (2) 5000 . (3) 1000 (4) 150

Which is NOT a stage in consumer purchasing process ?
(1) Search for product information -
(2) Product choice

(3) Post-purchase behaviour

(4) Deciding the selling price of a product

- ST B BT 9B T TH e TE B 7
(1) Sz & IR & STEHHd B G

(2) IWE =TIA

(3) FANIT TABR

(4) SO 3 fRwa g & Pk

What is the correct sequence of the given stages of ‘consumer decision
making process' ?

.

(A) Decision to Purchase, (B) Evaluation of alternatives, (C) information
search, (D) Need recognition

(1) D,C,B,A (2) C,B,D,A
3) B,D,C,A (4) A,D,B,C
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‘IqAEN FA Frofa gEmn’ @ & 1 sraenedt & wdt B T ¥ ?

(w3 FF w1 Frofa, () Rt &1 geuiss (¥) SHad @ @
(%) strrwgwar FHt gga=

1) ¥ 8/ A 2 9, 8 7 A

3) 9, 9, HA 4 A, T, 9, 9

What would Post-purchase evaluation of a dissatisfied customer most
likely result in ?

(1) Increased loyalty (2) Customer satisfaction

(3) Recomendation of product (4) Decreased loyalty

fret SrEgS SuHlaw & FAIA YRIET FH =99 g9 aRems
T -7

(1) Frer # gz : (2) IgwERT H Efe

(3) TR #H HEIfY @) et & w0

Which of the following is NOT a 'personal factor’ effectiong consumer
behaviour ?

(1) Life style (2) Occupation

(3) Family (4) Age

Prfafge & @ H-91 ITNET FIBR B/ F9HAd HIA A &
dafras FRe’ w1t & ?

(1) Shast , (2) =|IEH

(3) afRarx (4) g

Who was the main proponent of the Mental Health Movement ?

(1) Emil Kraeplin . (2) Sigmond Freud
\9} Cliffard Beers ~ (4) Carl Rogers
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AHfS @A TR B e O @ or ?
(1) ofye safRE 2) e wTs
(3) Prwd Rad @) et Aord

82. Which is NOT a characteristic feature of good mental hcal}tp ?
\/(’f ) Having mood swings
(2) Having positive feelings about onself
(3)- Being able to cope
(4) Independent thmkmg

m—quﬁmwmhﬁmmmﬂ%?
(1) waem & qa9 = |

(2 @4 P TR T gATHS |G BT

(3) WAROT F &HaAT BT

(@) =t # @ax W@ 9

83. Which is the best coping strategy for ensuring mental health ?
(1) Ego oriented (2) Task oriented
(3) Defense oriented (4) Other oriented
mwgﬁﬁmm%mm—mmgﬁamm
4
(1) oTEy FfvgEaT (2) wd aﬁg@m
(3) g AfrgEry (4) o= ARgEr
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84. Social Psychology is the scientific field that seeks to understand nature

85.

and causes of which is the following ?

(1) Indiviadual's perception of personal situations

(2) Indiviadual's behaviour and thought in social situations
(3) Indiviadual's behaviour in experimental situations

(4) Indiviadual's behaviour in isolated situations

S TR 78 et & & S P § @ Reae agpht
g FROT AN FH G F G & ?

(1) =R aRRufaat & afa $ gehsn &

(2) s aRRufaat # afda 3 gt @ RfERt &

(3) warTeTe gRRufedt & afeaat @ sasRt

(4) T qRREfE # kgt @ Rt #©it

Group Cohesiveness refers to factors that cause members of the group:
(1) to like each other

(2) to remain in close proximity

(3) to care for each other

(4) to remain in a particular group

e dafdpa 37 dRH B 3T Fh B B wRer iy @ At
(1) T8 g TH HQ &
(2) T gE B T W ¥
(3) TH FEY H @AW @S &

3 5 ’oT-’o
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86.

87.

The effect on the performance of an individual due to the presence of

someone refers to :
(1) Social facilitation (2) Social Loafing
(3) Social connectedness (4) Social relations

Pt sy & v aX Rl or Ry o SRERY @ TS A
O¥g HI drad 8

(1) T FIAEHTOT (2) @S cﬂgﬂwrﬁ:a
(3) |MIRTE T (4) TrfEs =9

Cooperation does NOT depend on which of the following factors ?

(1) Reciprocity (2) Communication

(3) Ego orientation (4) Other orentation
gemar Prefifea & § fBFg are w Pl st & 8 7
(1) IREREar 2) wA§OT

(3) o8y FfHR=TE (4) o/ tHf=mg

Which is NOT a focus of Sprots Psychology ?

(1) Understanding psychological factors influencing perticipation in
sports

(2) Promoting a particualr type of sports event

(3) Understanding psychological effects derived from participation
In sports

(4) Indentifying interventions to enhance sports performance
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ﬁw—mﬂﬁyﬂﬁaﬁmhﬁgaﬂ&?

(1) @a—wﬁmﬁmﬁmﬁammqﬁ%ﬂﬁmmaﬁ
quE

(2) Pret Rftre gk @ Q-3 sdew ) sSweaea BT
(3) éa—ﬁcﬂmﬁm%mmeﬁrmm

(4) @-@Wﬁmmmﬁmﬁ@ﬁﬁwm

89. Who established the first sports psychology laboratory and is
considered to be the father of sports psychology ?

(1) Norman Triplett (2) Dorothy Yates
(3) Coleman Griffith (4) Carl Diem

aﬁaﬁﬁmaﬁmnﬁmmﬁwwmﬂﬁm
FARST &1 Rar w7 ovar B qw A ar oo ?

(1) AT Ruse (2) S Agw
(3) Tl fafpe (4) @it oy
\y. Which of the following i.s NOT a characteristics of sportsmanship ?
(1) Intolerance to defeat (2) Courteousness
(3) Adherence to rules (4) Generousity

Frafofaa & & S9-ar /a1 wE=T #r ooy T8 2 ?
(1) qUorg & ofy orgeafierar  (2) smefrsran
3) Prawt =1 srwreT ST (4) SN

37 P.T.O.



14P/245/5

91. Which of the following physical factors does NOT affect the

92.

93.

performance of a sports team ?

(1) Lack of sleep (2) Food intake

(3) Being thin (4) Illness

Prafafag § @ P=-w1 TORE FH AT GYE B A H
guifaa Téf &Har ?

(1) =T &1 otwE 2) rifga HeH

(3) @ BT (4) Erd

What is the main feature of Cross Cultural method of research ?
(1) Study of a psychological phenomeon in a specific cultural group

_(2) Study of a psychological phenomeon in different cultures

(3) Conducting culturally sensitive research
(4) Study of social structures of a specific cultural groups

iy @ sgEepia Ry & gga @@ =4 8 ? :

(1) fre Rftre dwgpie g ¥ w-Re e Tad &1 e
2) fafr= dpfagt & w=asnte M &1 FE|IA

(3) wephat & iy d@dgasia Mg g

(4) Faed Rafdre drpfas g 3 AP @91 & 1eEg= BT

Which of the following is NOT a problem associated with participant
observation ?

(1) Bias due to closeness with group being observed

(2) Ethical issues related to non-disclosure of observer's identity
(3) Role conflict for observer

(4) Less time required by observer the conduct-observations
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ﬁw%mﬁﬁm-ﬁvmmwﬁmmaﬂ%?
(1) ﬁﬂmaﬁsﬁaﬁmﬁn{sﬁmﬂw%wgam

(2) wﬁmﬁﬁmwmwﬁﬁﬁmg& ‘
@) Fiwrmal 3 R g gz

94. What is the major problem with conduction an experimental research
to study a social ‘pheno_rnenon ?

(1) Selecting the dependent variable

(2) Contacting the respondents

(3) Selection of adequate sample

(4) Man-i'pulation of Independent variable

Mﬂmﬁmﬁm%w%mmaﬁu—mﬁamﬁ
¥ 9qQ guen w@ar g7

(1) 3@ == & gam

(2) gferfrat @ s HET

(3) IugET wferest @& g e

(4) @ax aX 1 of=es

95. Which method of social psychological research mainly focuses on
exploring the relationships between variables ?

(I) Correlational (2) Ecperimental

(3) Survey (4) Observational

T AAfesT it A-@ R ggea: 9% @ onedt wat 3
=AY T Pfga B ?

(1) TWEFTIHS (2) urfrs

<) o | (4) Priwomse
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96.

97.

Which of the following is NOT a characteristic feature of attitude ?
(1) Being Acquired (2) Centrality

(3) Inheritability (4) Directionality

Rrfaiaa § @ @e-ar @Ry & aeor 8t 8 7

(1) o g=r (2) dfEgar

(3) ST (4) ResmeTena

What does ‘impression motivation function’ of attitudes imply ?
(1) Being motivated to make a good impression

(2) Expressing tﬁc 'right’ views to make a good impression

(3) Holding impressive attitudes

(4) Trying to appear impresive and motivated

sl & gwa JRERa @ Far ared ¥ ?

(1) oT=BT u¥E s & o e g

(2) orBT g9 S & Rrd wd’ g H s ST
(3) wwrt Rt &t arRer &

4) wwE wa fEfRa gRera 81 WX @™ T

Under which of the following conditions, efforts at changing attitudes
are likely to be highly successful ?

(1) Forewarning about being the target of persuasion
(2) Selective avoidance of information challenging existing attitude
(3) Unbiased evaluation of views opposing attitudes |

(4) Attitude polarization in interpreting mixed evidence
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ﬁmﬁ@aﬁﬁﬁwﬁﬁuﬁﬁﬂaﬁgﬁqﬁaﬂw%mm@
5E B 9B A #H gEeEET I=g @ T P

(1) T & g 81 & aR & qd goar &

(2) wE™ fRgRT B gAd Y arh gEeT @1 T TReER
(3) Ry Ref-gfiedolt & Frsger orive=

(4) PRI aredt H e & oftgRy gdheor

99. Which of the following is NOT likely to be influenced by one's
prejudices ?

(1) Processing of social information .
(2) Beliefs about persons belonging to various groups
(3) Feeling about persons belonging to various groups

(4) Level of intellectual functioning

Pt & & Rbw ox safe @ qatadt 1 swm ge @ weemEe
8t Bt B 7

(1) TS dga=nett & |damn= |

2) fBR= Tl 4 oo =gt & aR & grond

3) = wEt @ T afeat 3 TR # s

(4) dMfed Frd g=fy F1 @7

100. Which of the following is NOT a source of prejudice ?
(1) Ample avalilability of essential resources
(2) intergroup conflict and competition
(3) Parent's prejudiced behaviour

(4) Unfaugurable interactions with minority groups
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Prafafed # @ H-a1 gatug & &g i 8 7
(1) ARy q@Et # Sgaaa § Iqeear
(2) ordYE wud wd gyt
(3) mrar-fyar & gatnd sEER
(4) oTEES WISl B |y ufgE SRR

101. What does 'An unfounded belief that all members of a specific social
group share certain specific characteristics' refer to ?

(1) Beliefs (2) Attitudes
(3) Stereotypes * (4) Values

‘g RN aon # [F Rftre gamfe @ 3 gl gt
# 5o RRre 1 M &7 @ T IR ¥ gaw awed T ¥ ?

(1) arReTd (2) otxgRmai
3) wfFgfmmai @) T

102. Which of the following is NOT a characteristic of a ‘Transformational
Leader' ?

(1) Focus on group needs as against individual needs’
(2) Serve as charismatic role models

(3) Stimulate creativity among followers

(4) Present an inspiring vision of future for group

Freafafaa & & SH-ar sur=refg Jar @ e ot 8 ?

(1) =RFTEt it SEEEast & g WE B TEvdEarSt U
R

(2) Wm&wm
(3) FmAGt & IFeTEwRaT ARG BTN
(4) WIE B TN WA H IRONIT 7 TG HAT
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103.Which style of leadership is characterized by '‘complete trust and
confidence in group members, consideration of their opinions,
interests and goals, and taking decisions in consultation with them ?
(1). Authoritarian (2) Democratic

(3) Charismatic (4) Laissez-faire

Fhe g % A7 AN T @ Taat F gof Rvarg o@ w4, o5
e, Eﬁﬁ@aﬁmmwmqmﬁvawﬁvham
a Rfye @ ot & 7

(1) wamEE (2) Srepent=rE
(3) a;ﬁsqllé ' (4) oSTEEEY
104.The Contingency theory of leadership has been proposed by .........
(1) Robert House (2) Fred Fiedler
(3) Victor Vroom ) (4) Hersey & Blanchard
AT B WIS T .o g g fear T R
(1) ATk grey 2) B3 frse
3) frRT gm (4) B wE AhrE

105.Which of the following is NOT a characteristic required for being a

good leader ?

(1) Adjusted personality

(2) Communication skill

(3) Empathic ability

(4) Having definite & fixed ideas
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o oT=ST a1 T B R Prafifaa & & AF-a1 IO A AEEH
T8 2 ?

(1)' FaRa ARk

(2) THEOT &FAT

(3) aggYRT A anTa
4) PiRea aar s RErt & =

106.Which of the following is responsible for mobilizing body systems
during 'fight or flight' ?
(1) Sympathetic Nervous System
(2) Parasympathetic Nervous System
(3) Somatic Nervous System
" (4) Spinal chord

Fad g7 g’ B gug aORE dF H Jrd #H X Pk FA B
R Prafifaa & @ H9-91 SRS & 7

(1) RedRfes =g dx 2) YufrRafes wg o

(3) W dfxer a= (4) ABIVS :
107.What is ‘white matter in the brain mainly composed of ?

(1) Protein pockets (2) Collection of fat

(3) Myelinated axons (4) Cell bodies of neurons

aftaes # Q@a gad gyw w9 & fRad w<fEa far ¥ ?

(1) =& dpe (2) € W AT

(3) =i - sremiRa di 4) R FH D
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108.Which neurotransmitter is responsible for conveying information at
neuromuscular junctions ?

(1) Dopamine (2) Acetylcholine

(3) Serotonin (4) Adenosine
wgﬁmﬁsﬂuwwwaﬂ%m%mzﬁwwqamﬁa
I Ber B ?

(1) SwmEET 2) REEERR

(3) |¥R_AF= (4) oA

109. What is the exact number of Cranial Nerves ?

i dfErelt & uHew g e | 8 ?
(1) 24 (2) 15 (3 10 4) 12

--'-'..-—-_-.- - A ———

110. Which is the major 'sensory relay center' of the brain ?

(1) Thalmus (2) Hypothalmus
(3) Medulla (4) Pons
aferes & YA E@AEE qERET F PA-Ar & 7
(1) demE (2) BEAATHH
(3) agem (4) 9=
111. Metabolism is usually divided into two categories,............... , the process

that breaks down organic matter and harvestsenergy and ................ ;
a process that uses energy to construct components of cells.

(1) Anabolism, catabolism (2) Constructive, destructive
(3) Catabolism, anabolism (4) Destructive, constructive
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T FHE ST A [ T A R ar s R, . , a8

ufkar e Sfas gt @t fRafvsa #3@ ot sa=r 3t ot ® qen
............... , T gikar e St @& suan e et 3

31agat 1 Fmtor g smar & )
(1) TAEIReH, SeaiRey (2) Fetoerd, Ravsasa
(3) deEfrH, TATEIRST . (4) REvsasr, Fefoerd

112. Proteins are made up of what type of mofecules ?

(1) Nucleic acid (2) Amino acids
(3) Ascorbic acid - (4) Carbohydra}es
AT o gHR & el A Riffa By ¥ ?
(1) gfs afys 2) it ofys,
(3) uTHifds ufys . (4) FEEEITY
113. What is known as the "'molecular unit of intractllular engergy
transfer” ?
(1) Protein (2) AMP
(3) Body Fat (4) ATP

(N
éﬁaﬁﬁmmmaﬁmﬁmm’ﬁmmﬁwm
?
(1) 9 (2) T©. TwH. 9.
() riRes F@r “4) < & @ .

114. Which of the following is NOT regulated by the homeostatic system of
- the human body ? '

(1) Balance of alkalinity & acidity
(2) Body Temperature
(3) Blood glucose level

(4) Body fat accumulation
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Fr=idfaa & @ A9 a1 a9l 87 @ gagE 9 3z Rt
o fFar ST ® 7

(1) &OFa T Srfdan & He
(2) AT H agEH

3) GF F BT W &R

(4) RS awr g+

118. What is the function 61' semi-circular canals situated in the ear.
(1) Sending information about 'body balance’ to brain *
(2) Transforming §ound to nerve impulse
(3) Collection of sound waves

‘(4) Conductiing sound vibrations to cochlea

ot ¥ Rea FN-wFeR ST & gwd wav ¥ ?

(1) X @ §Ia9 B aR F ARass @ =B Ao
2) @fy FH =g o # qRaffa s

(3) @fs &¢I H1 F/ASIOT HIAT

(@) @ Fa F Fifar g6 e HIET

116. Colour blindness is related to damage in ----------------- cells ?
(1) Rod Cells (2) Ganglion cells
(3) Cone cells (4) Glial cells
LS B: 1 (v | AR FREHRT N afy § o= ¥
(1) Az P 2 MR St

(3) B W (4) Peas SHifred
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117.The ----------uuuuu is a neural network which is that part of the motor

system that causes involuntary reflexes and movement.
(1) Pyramidal system (2) Extrapyrmidal system

(3) Parasympatheric system (4) Muscular system

............... T FEfAEH o & A g &5 & 91 ® ol
Ffes gfadt od it & SART #ar @

(1) Rufyss o (2) ursmuHss dx
(3) ¥uRrdafes d= (4) s ax
118. The motor impulses originate in the giant pyramidal cells of the motor
area which is located in the ............. of the cerebral cortex. '
(1) Cingulate gyrus (2) Postcentral gyrus
(3) Precentralgyrus (4) Superior frontal gyrus
nfeE e Ysfa & 3 A wr Rafres HRmet § sa= 8
g oifs aufeTss avge & .............. ¥ Ry ar B
(1) RRe mE (2) W xS TERE
(3) Pra=s My 4) gIMEX H=a maw
119.The ---=e-ccemmeeeo . is the level of intensity of a stimulus at which the

subject is able to detect the presence of the stimulus at least 50% of

times.
(1) Difference Threshold (2) Just Noticeable Difference
(3) Terminal Threshold (4) Absolute Threshold
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................. aﬁwaﬁtaﬂumaﬂwwaaét%mw
gferarht Sfus it SuRafy Ft ¥ & F9 50% IR GG HT g
g

(1) fafRr=ar 2eh (2) A .TBIAFA G I
(3) dradt s @) Frw e '

120.'The Power law, stated in context to relationship between the
magnitude of a physical stimulus and its perceived intensity or
strength' is named after which psychophysicist ?
(1y S. S. Stevens (2) E.H. Weber
(3) G.T. Fechner (4) R.S. Woodworth

N IEues B aRET aur gEH dag1 H gogelipa daar stgar
g @ g Ty 3 gad 3 HRE ‘qEr dY fra gaeifae e
P A q AT ST @ 7 .

(1) Tq. Tq. €99 (2) %. Twg. qEX

(3). . &. BHAX (4) °TX. TH. gsad

121.According to Signal Detection Theory, the sensitivity index (d")
depends on:
(1) Distance between lowest and highest values in signal-plus-
noise distribution '

(2) Distance between the means of signal-plus-noise and noise

distribution

(3) Distanéc between lowest and highest values in noise
distribution

(4) Distance between lowest values in signal-plus-noise and noise

distributions

49 PT.O.



14P/245/5

HHa | R 3 JFER dagreear gEEisE (d) FreiR war @

(1) ERa-Hed §gaT Raer H g a9y I=aaq FGq=l &
g @ R ' ”

(2) WdA-HEw wgH R qur Hered Rawr $ gemE B
9 Hfi @ W :

(3) e AT H AT TUT ISAAH HEH B AT A ghH W

(4) m—mwmmmmaﬁw
et & @i @ g 1

122.In SR method of psychophysics the intensity of stimuli

is successively increased or decreased by the experimenter.

(1) Method of Constant Stimuli (2) Method of Adjustment

(3) Method of Limits (4) Staircase Method
AN @ fafer & sarrsat o SEius 9 "5En
H INTA qTEd a1 g &9 F qRatfa Bear smer ®

(1) Rax s RAfy | (2) HuoA RAfy

(3) @ fafy (4) |Que fafy

123. Which level of measurement involves existence of order, possess equal

intervals, thus a unit of measurement, but lacks an absolute zero ?
(1) Ratio (2) Interval
(3) Ordinal (4) Nominal
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WO & B @ @) A Shvwar 1 ofam axer @ ofaaE, saRi
TH A A g a8 ¥ ag arafaw s T @ @ 7
(1) Srgufes (2) ofaT=
(3) FTT (@)

124.The lov&;'.levels of which neurotransmitter is associated with

development of pathological anxiety.
(1) - Endorphins (2) Norepinephrine
(3) Dopamine (4) GABA

WS = S R{aa BBy dfrepr dae & Fre @ @ g ®?
(1) =R (2) AR RREA
(3) Safas ' 4) St @ & ¢ (man)

125.The Huntington disease is said to be caused by which type of genetic

mutation ?
(1) Autosomal Dominant (2) Autosomal Recessive
" (3) X linked Dominant (4) X Linked Recessive
§fve R Rl S @ ST SraRadT & & S B 87
(1) ST v @) s RafRE
(3) T dgE A= (4) e dgF Rt
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126. Which of theoretical viewpoint proposes that the acquiring adaptive,as

wellas maladaptine, patterns of responding are governed by the same

principles.
(1) Psychodynamic (2) Client-centered
(3) Behaviouristic . - (4) Psycho-social

-1 A SRR a8 SR e & s srpita w & a
gfafsar & ufeaet & ot o & R & &3

genfaa gar 8 ?

(1) HARTETES (2 Wh-f=a

(3) HIABRATE! (4) TN-EIIRTR

127.Which of the following does NOT characterizes theEgo-defense
mechanisms ?

(1) Having certain adaptive value -

(2) Pushing painful experiences out of consciousness

(3) Result in distorted view of reality

(4) Rational unconscious protective measures

Rrafafga & & Fa-ar oew g gRal & aRwiiva Té e
g7 _

(1) HB "= 7 FATHed Tod oAl

(2) FWIER FTTHAL H AqHA B B T AT

(3) arefamar #it RAgpa ghRewor & Rl

(4) afFETT AT FRAHS I BT
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128. According to cognitive-behavioural perspective, maladaptive emotions .
and behaviour are the result of :

(1) Distorted thought & information processing

(2) Distorted physical environment

(3) Inability to learn adaptive response patterns

(4) Distorted development of ego & superego

G-I ETETE! B HAT oF FIER
g gReHIT & FFAR FATGHRT G

(1) Rpa ReEr od g==m geq9

2) Rgpa Afas am@m@cer

(3) ITHIT FJEER i daa N A

(4) oT8q Td qeTey & RAga R

129.Which of the following parenting style is NOT associated with
development of psychopathology among children ?

(1) Neglectful-uninvoled (2) Permissive-indulgent

(3) Authoritarian (4) Authoritative

fr=fafaa ¥ @ oo o= @ HA-d@ AW F=t 7 FAR_GRY B
fpra & wa= Tl 2 ?

(1) TREAB-ITTE (2) HAFNHZ - FIFAEMT

(3) TIATH®H 4) sferd

130.The ICD- 10 classification of psychological disorders has been produced
by whom ?

(1) American Psychological Association
(2) American Psychiatric Association
(3) World Health Organization

(4) World Medical Association
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g NP Rt & ong. . N-10 Ffwcor feas e Bl e
™R ?

(1) AT aEnteea SQRRATH

(2) mﬂﬁmﬂﬁmﬁiﬁm

(3) a2 B FTHESAYH

(4) a<d AT AT

131.In DSM-IV-TR the personality disorders are classified qn which axis ?
(1) Axis-I (2) Axis-III
(3) Axis-II (4) Axis-V
N IV-AARA e Rer e o w afiga R
A E 7 |
(1) 38| (2) -1
(3) SF&-II (4) IHW-v

132.What is the range of the numeric scale of Global Assessment of
Functioning of DSM-IV-TR ?

31.0H.TH .- IV-8.3TR & ad Q9= i HhafiT offm @
F R T B ?

(1) 0-100 (2) 0-50 (3) 0-10 ", (4) 0-1000

133.What is the main affect and use of drugs grouped under the category
'‘Barbiturates' ?

(1) Facilitation of social interaction (2) Tension reduction

(3) Increased alertness (4) Increased endurance
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s’ AR & afige it @1 v s o SwEnT T 7
(1) amims s=afdar & geeffecer  (2) 9@ F &9

(3) Tamar ¥ gfx (4) weTdee ¥ gfx
134. Which of the following is NOT a stimulant ?
(1) Cocaine (2) Alcohol
(3) Dexedrine (4) Amphetamine
Frefafas & @ f-ar S¥oe’ Tdt ¥ ?
(1) @ @ wRT
(3) TR (4) TRHIHEA
135, Marijuana is categorized within which of the following ?
(1) Stimulants (2) Narcotics
(3) Sedatives (4) Hallucinogens
mmﬁﬁmmﬂhﬁmmmf@ﬁmm%?
(1) IdT® : (2) TS
(3) ImHE ofwy . (4) ufEE IR
136.Who devleoped the Rational Emot.ivc Behaviour therapy (REBT) ?
(1) Albert Ellis (2) Albert Bandura
- (3) B.F. Skinner (4) Walter Mischel
Jme gfen AT Ad (mR.£.9.3) i Rea R frar ar?
(1) o Rrd 2) rad =g
Q) REs. I, (4) e BT
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137.Which therapy involves learning of adaptive behaviour simply by

observing another person and without being given any direct
reinforcement ?

(1) Imitation (2) Response Shaping

(3) Modeling (4) .Systematic desensitization
fre wfaferear & e B geder @ Baw gat &t & Frdeor
F AR X FHITG FGRR &1 A’ gfafea Sar & 7

(1) oTgHhT (2) oTIRFAT ST
(3) ufersqor . (4) gafRuga STHALHIOT

138.Which of the following is NOT a characteristic feature of Client

Centered therapy ?

(1) Establishing a psychological climate of acceptance

(2) Providing analysis & interpretation o'f client's verbalizations
(3) Therapist remaining non-dircc.!:ive

(4) Bringing congruence between self-concept & expericncihg

Frfofae & & fr-ar M- Rifteer 1 Rl T 8 37
(1) ENBRTHAT B TH FAASRE qrATEeT F=1

(2) I I s R=fFat & fAsawer qen RFE=gs s
(3) wATafrcas &1 e WA

(4) EWETIE TF TANEl § FHESIAT AT

139.Mental retardation is categorized on which axis of DSM-IV-TR ?

(1) Axis-IV (2) Axis-II
(3) Axis-V (4) Axis-II
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e Had 909 .aH .- IV-A.R. @ Rea ote aX afiea fear st

27
(1) AH-IV (2) ST-1II
(3) -V (4) ST™-II

140.What is the IQ range for sevcr_c' mental retardation according to DSM-

IV-TR ?
(1) 20-25 to 35-40 (2) Below 20 or 25
(3) 35-40 to 50-55 ~ (4) Below 85-40

& .0q.H-IV-A.MR. B JFER THR A T #H gi=
afer-Torics @1 e ¥ 8 ?

(1) 20-258/ 35-40 (2) 20 3T 25 &

(3) 35-40 & 50-55 . (4) 35-40® =

141. Pregnant mother's being infected with------ is NOT associated with high
probability of baby being mentally retarded ?

(1) Syphilis (2) HIV-1

(3) Influenza : (4) German Mecasles

T HIAT BT coeeennnnnnnnnns ;A dEfia A a=3 B AARS & 4@
e B @ Iea wEET § aas T ¥ 7

(1) RwfeE 2) .M. 1

(3) FHIT (4) vt o
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142.In which method, the test is divided in two equal parts and the index
of reliability is taken as the correlation between the scores of the two

parts ?
(1) Test-retest method . (2) Split-half method
(3) Alternate form method (4) Correlational method

e Rfy & qferer @ @ qwaR Wit & AR fear sar ¥ e
Rryaa-iaan & gaEsis A4 1 @ grint B Sig qeaEsy B

ST 8 ? . .‘
(1) gdeEror-g=: gderer fRfy (2) <= fafy

(3) Rpsg wrd fafy (4) OEsTIETHS Ay

143.1f the scores on 'Test A' are highly and peritinely correlated with
scores on another test of external and independent measure of
essentially the same variable that the Test A claims to measure, then

it can be concluded that the ------- Validity of Test A is high ?
(1) Content (2) Costruct.
(3) Convergent (4) Criterion-related

X Bt deror o B graiwt o Bt ot qfteror B graiEt B
mmmwammz-wmmmam
QA HIAT & | B X B A9 @ 2@ ‘qfierer o @war § ar aw
Frepdt Freben o gaar ® 6 ‘qfieror o @ ... Byt o9 3
(1) Reg awgas ' (2) TIETHFH

(3) eirETd (@) Py =
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\1}‘.’111 which type of 'response set' there is a tendency to give very unusual

Or Uncommon responses ?

(1) Acquiescence (2) Extremeness

(3) Evasiyencss (4) Deviation

Rre s & ot R=ara & aga sl gr sramareT orgfdear 23
@ ggfa &t & ?

(1) &agafy (2) gow
(3) W (4) Reeer

145. Which of the following is NOT a 'Standagd Score Norm' ?

(1) Percentile score (2) 2-Score

(3) T-Score (4) Stanine Score
Prefafere & & A-a1 "aedga orefs At T8t & ?
. (1) gfera® welih 2) AT HAH

@) A-wiim (4) R BaiD

146.What is the correct formula used for computing the Intelligence
Quotient (IQ) ?

Chronlogical Age Mental Age
(1) Mental Age *100 (2) Chronlogical Age
Mental Agc . Chronlogical Age
100
3) Chronlogical Age (4} Mental Age
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gfeafen oie N T A B A g FQT &A@ AR A qE
g owEr ¥ ?

n T I 100 2 ity

(1) At g , (2) AT 3G
= wegeR oy

(3) WMXIOO ) A g

147.The very first attempt to create a standardized test for assessment of
a person’'s intelligence was made by --------

V[,b) Alfred Binet ; (2) Francis Galton
(3) Lewis Terman (4) Theodore Simon

Maﬁaa&gﬁ%mmﬁmmmﬁﬁamﬁm
GELLLIE [ SRS & @ far T A

(1) s = 2) wfE Teed

(3) TgzH TH (4) AR 9=
148.Who proposed the 'Three Dimensional Theory' of intelligence ?

(1) Binet (2) Throndike

(3) Guilford ‘ (4) Spearman

g @ Bemarht R Rras afaRa fear ar ?

(1) fA (2) GrEES

(3) P (4) Raad=

149.Which of the following is NOT one of the seven 'Primary Mental
Abilities' proposed in Thurstone's model of intelligence ?

(1) Word fluency (2) Perceptual speed
(3) Spatial visualization (4) Divergent production
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mﬁﬂﬁa,ﬁﬁﬁﬂ—ﬁﬂﬁﬁﬂ}mmg@%mﬂ
ST WRr wafhe i awensi’ ¥ @ o @t & 7

(1) = ggar (2) 99OE WHATTH-T0T

3) T wFgeY= (4) ITETd Sfy

1850.In Wechsler Adult Intelligence Scale-IV (WAIS-IV) there are ------- index
scores representing major components of intelligence.

(1) Four _ (2) Five

(3) Six (4) Seven

AT AT R B -1V (s=g. . . .-V ) A gRe B
@ geat i afafiite @ as .. LgaEis g

(1) =% | (2) e

3 ®: (4) @m

61 1,500



14P/245/5

ROUGH WORK
s wd
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ROUGH WORK
i
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